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import pandas as pd

data = pd.read_csv('load_kc_house_data.csv')
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def trans_int(x):
if x=-int(x) <= 0.5:
return int(x)
else:

return int(x)+1
data_new[ 'bathrooms'].apply(trans_int)

data_newl = data_new.copy()

data_newl['bathrooms'] = data_new['bathrooms'].apply(trans_int)

data_newl.groupby ('bathrooms') .mean()['price'].plot.bar ()
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from sklearn.linear_model -import LinearRegression
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data_new[['bathrooms', 'sqft_living']]

y = data_new['price']

model = LinearRegression()
model. fit(X,y)
mode'l.coef_

model.intercept_
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from sklearn.metrics import r2_score, mean_absolute_error

price_pred = model.predict(X)

r2_score(data_new['price'],price_pred)
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from sklearn.tree import DecisionTreeRegressor
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data_new[['bathrooms','sqft_living']]

data_new['price']
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model = DecisionTreeRegressor ()
model. fit(X,y)

from sklearn.metrics import r2_score, mean_absolute_error

price_pred = model.predict(X)

r2_score(data_new['price'],price_pred)
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